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EDUCATION
Qa2
PAPERII
4 YrAYA— 7
Note —This paper contains fifty (50) multiple choice questions, each carrying two
(2) marks. Attempt all questions.
Wdig - v weusl v (wo) euglased yaedl ©. MAs wxsl & () A B,
oL % Ussliel G avil. ~ '
1.  As to the question of values :
(A) The realist and the idealist both obtain their values from man’s
experience
(B) The pragmatist and the idealist derive their values from sources outside
of man
(C) The pragmatist and the realist reject supernaturalism as a satisfactory
source of values :
(D) The idealist and the realist both obtain their values from intuition and
’ reason '
yeurl usA— | |
@) ardadidl 219 suedagl ol dunl yell el Adeanidl dikd 8.

@) aasiRdl dal suedael Qi qedl Hrarll el e wlanid)l
A0 8. ' ‘

(€) AaelRAEl dAl dReadlel yelidll Asdidsig Ald dls wABsaedl
w51 53 B,

O isdaidl dal ardadl ol dusl yedl wedRgA A db gL
A0, 6.

2. Cultivation of aesthetic value is difficult because :

(A) it involves emotional surcharge

(B) it requires strong, sustained intellectual guidance

(C) it is content based :

D) it demands emotional surcharge as well as intellectual guidance

deulats Hew dnaal sB 8, 5% 3-

A) A cudicHs v 4r1d 8. |

B) AN ¢, Add ollfes wwoled-dll 32 s 9.

© A Ruadrg u WalRd 9.

@) A7 cucdidisdl dul s wledlH ol 32 u$ &
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3. The Pragmatists :
(A) reject scientific method of experimentation
(B) maintain that complete objectivity is possible
(C) consider 1.Q. as cbnstant and innate
(D) claim that knowledge is tentative and the truth relative
Ua8LR ALl |
@A) 3ol dsulRs uglidl >RdlsR 53 9.
B) WA © 3 wyel argafdl wsy 9.
() oif&visn RaR du =g 2Ll
(D) ldl 53 © 3 Al SPHAAUG A A A& ©
4. Aurobindo’s philosophy is— '

8.
8.

(A) Vedantist ) (B) Integratist
(C) - Realists (D) Metaphysical
sl vfaedl Baysl o— -
(A) detdl (B) AHrayqlE]l
(C) ARAdaLE] (D) »uReillis
5. The message of brotherhood and peace. was given by .
(A) Islam (B) Christianity
(C) Vedant (D) Jainism
Giget del WAl AR AA-uniel 5§ Baysluidl wedl edl ?
A) Sen . B) [Bidl a4
(C) Ael : (D) %~ ad
6. Which Indian philosopher says something similar to Kant wherein he says,
“what I must presuppose in order to know object, I cannot know as an object.”
(A) Charvaka (B) Shankaracharya
© Ramanujam ~ (D) Prabhakara

sl 56 8 1 el aal Wi AR S wrder ud, dl df ved 43 ¢
AR g 3. s eudly Bayd - ¥q 56 & ?
&) als @B Wl
(C) UHIAAH (D) MRS
Edu.—II 4




10.

‘Pratityasamutpada’ or the theory of dependent origination is the fundamental
teaching of :- ,
(A) Hinduism ~ (B) Islam

(C) Jainism ’ (D) Buddhism
el waal Wt Gaufil Rglm sidl 4o Guew © 7
@) [RBg a4 | | (B) ety |
() %= adl | D) olig w3l

Aristotle’s theory of golden mean is like :

(A) Syadvad

(B) Buddha’s theory of ethical ‘middle path’

(C) Vedanta

(D) Nigamnaya

ARWeaA WAL oAl Rt sil FA & 7
(A) wWledle

B) gt e Wl AL Alas Rigi

(C) dgld

(D) (Ao

The Charvakas are an Indian version of .

(A) Hedonism (B) Pragmatism

©) | Spiritualism ‘ (D) Materiglism

Aalsl Faysl s eurdla suqlt o ?

(A) Yyudle : (B) 4deldle

(C) BEALHAE | (D) ollRsae

Who said, “knowledge is the product of experience” and has no independent
existence : o

(A) John Dewey ~ (B) Plato

‘(C) Aristotle ' (D) Bertrand Russell

s9 s§ 9 5 s sqeiardl ux & 219 A A R el ?
(A) A S48 ®) WA

©) ARwled ) eglvs A4
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11. Dharmakirti said, “These shameless and naked Jains make contradictory
statements”—which doctrine was he talked about ?
(A) Pramana -~ (B) Buddha’s ethical middle path
(C) Syadvad (D) Nigamnaya
@l AR 56 vl R 2R A 3+l uuR [l Qat $3 . ndl
A suL Rgtd QN 58 8 7

(A) WAL (B) tharil HHH oL Afas Ret
(C) Jledls - (D) o
12. In any definition of educational soc1ology the key word is :
(A) Individual | (B) Society
(C) Culture (D) Interaction
aRs el S v ol w3y Ws 9.
A) A3 7 (B) ALY
(©) Axla ' (D) idWsu

13. In.defining social stratification one can say that the term implies :
(A). traits that are socioeconomic in nature |
(B) a differentiation which carries social prestige
(C) groups of differing sex, age and intelligence
(D) all the above answers are correct
wlfrs sl araul Fodlafid sued YR 9.
(&) A5 2Bs 23Ul Slu dal qasil
@) wlrs ukrst salag Qs
©) Rt~ odlady, au 21 ofa- %l
(D) GURL GlEl Gl AL B

14. “Destiny of India is being shaped.in her classroom.” This statement is quoted
in the report of :
(A) Mudaliar Commission (B) Rammurty Committee
(C) Kothari Commission . (D) Radhakrishnan Commission _
ouzct-g, ol Ari adl visHi 9slS @ 8. i sart DAuniell sul vduaHl -
sealy & 7 |
A) Helau ' @) A A
©) s8R 42 @) ANeawlE=aA- P
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15.

16.

17.

“Secularism aé an accepted goal of democracy.” It stands for...... which one is
not’ correct from-the following ?

(A) dignity and eqality of man ‘

(B) not imparting gpiritual values in educational institutions

(C) making school curriculum value based

(D) having access to spiritual values for all

ealPrdadl distidld ellsd A 8. DAl dn g ey usg, ol ?
(A) tepel OURAL 2 AL

®) Aalls Al 2ueulus el A saddl d

(©) WAL HeUASHA Yed AR aiag a

@) A w2 s el yact il d |

Talcott Parson’s theory of Functionalism considers the s‘ighiﬁcance of—which
one is not correct from the following ?

(A) Social system (B) Cultural system ' -
(C) Personal system ‘ (D) Economic system

26z WAl Aasizddl Rigid 0A-uaidl 6 enotadl Al sl saladl
el ?

(A) AUXS Rl . (B) uiglas
() Aul3ds ucRal D) Ly Rl -

Acculturation is the process of :

(A) Following the latest trends of a culture as opposed to the past
traditions ' B

(B) Accepting the innovations required for the development of nation’s culture

(C) Developing qualities which affect the culture of a nation

D) Béing influenced by the cultural imperatives of a nation

dgdlsrat wBu © — ¥

-

(@) eydsiasll Il RsHl Al vedH ddle AR 21

@) el Aegl s w2 %330 2 Aafain K5 B
© el ArsRA A 53 Al Yl QAswd B
@) WL Arglas 2ued a4 ueuldd A 3
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18.

19.

20.,

21,

Modernization means :

(A) Getting westernised
(C) Joining the elite group
w150 Aed

@A) WBAHls8

(C) gAY A Mg
The elites are :

(A). Highly educated
(C) Very cultured
Mgdisl sy 8

A) G [qaa Rnden
(C) uol YA

Population education :

(B)  Atheistic
(D) Becoming rational

B) s URdsAEl
D) dlEs ong

(B) Rich
(D) All the three

®) 4l
D) GuR-L 29

(A)  should be taught as a separate subject

(B) could be considered unnecessary
(C) should be integrated with existing subjects

(D) will solve the problem of wastage in education

audl (e -

A) As el [@Ana a3y dlvag AR

(B) B3l sl asu

(©) sld-l [AQnul A Aslad s3g ASA

D) Rawni 2iucy-dl xRl 634 @ad
“Necessity-is the mother of invention.” This statement indicates :
(A) Scientific development of society |

(B).. Intellectual flux in the population of any country

(C) Progress in the industrial aspects of a nation

(D) Social changes happening as a result of man’s efforts
r3Ruld 2 waviiosfl Wdl 8. 20 suq eald -

@A) -l dalRs Qs

@) siouel el o-ivun olifes gan
©) siduRl el ALBLs slotdiql [@s

(D) H™®Al MaetiAl wReuH3y Aulys wRad-l
Edu.—IT |




22..

23.

24.

The term sub-culture is used to indicate. :

(A) The culture of the lower strata of the society

(B) The beliefs and customs of traditional groups

(C) The culture of different groups of society |

(D) The traditions of tribal groups.

'Guaigla’ Al Aseunt QA 55 euoid euld & 7

&) Wyl fladl -l Ala

B) uIulold el H-ddil 2 Rad

©) - Qe qal-l m;[a

@) YR Sl uIuiil

With which of the following need the physical education teacher not concern
himself directly ?

(A) The promotion of physical fltness

(B) The promotion of emotional and social maturity

(C) The promotion of attitudes

(D) None of the above, all are his direct responsibility

{Auigll 5§ %3[‘1%1@ WA WARSs e Ras ucaa Aa aguu%l ] ?
Aa) WRs amdil Qs

B) Al 27 wulys wRusadi-i Qs

(C) H-tlaagii-l (st

@) Guariiefl A3y A, adl wzRudiHl Qs adl ucua %’cuotm‘l 3
The best evidence that emotions are learnable is that :

(A) most emotions are not present at birth and, therefqre, have been learned
(B) emotional responses can be associated with previously neutral stimuli

(C) they vary in intensity and frequency with the degree of intelligence of
the individual

(D) they increase in intensity and frequency with age

AN vy O afl A wBdl A © 3
(A) 2l oot ARt o= AR el AL, 2 adl d lven €l

£
@) WARBS WAl uddel dee sld ddl Gust wd Asl sy V.
© Bl ofadl sl ax-l dladt 2R 2ugaul §812 wd 8
@) ad agdi andl dladl 2 gl aaRl ay .
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25.

26.

217.

Sex education should be oriented primarily toward :

(A) answering children’s questions on matter of sex

(B) discouraging premature interest in members of the opposite sex
(C) making adolescents aware of the dangers of sex activity

(D) promoting in children healthy attitudes toward sex

el Raw ead 59 ouod W sid BAdu ?

A) Adladl 3 euasiqL Uil Gl Au

@) A sl ad Qo AldiHl @ Adi

(©) dg@tm Acllu ucg_[ﬂwvu AuHl (AN o sl

@) sl Al U @ wlaagl [Asuaal

The “mental development” of the child most closely parallels an increase
n

(A) his ability to memorize

(B) his ability to get along with others

(C) his ability to profit from experience

D) hlS stock of knowledge

AoLsel RS Rsret AniEll 56 onotdui aariHl el Fseil uq[q
¢9 ?

@A) a-ll we vl wldd

®) arll ool wd astz seurl uldd

©) Al detadidl aet Al uldd

D) arll alrid, dHR

“A relatively permanent change in knowledge or behaviour through expe-

rience” best defines :

(A) Learning B) Maturation

(C) Conditioning (D) Reinforcement

"ugeid gLl 2l 3 ad=eil e d seedl yRad" 1 Qi 35 opotas{l
Avg L © 7 o

(A) YA © (B) wlRusadl

(©) dHu-a D) Ygéls

Edu—II 10



28.

29.

30.

Jaya’s optimistic view of the world tends to bias the attributiohs she makes
in a positive direction. This is an example of :

(A) the polljrana effect . ~ (B) Similarity bias

(C) Fundamental attribution bias (D) Self-serving bias

ogaieil 2oL Mol wueugl gResial A % LUl 53 B Al esitcs R
ydateysd orudl 93, i g Gewea 8 7 |

(A) WEdIL AHAR

(B) AHi~icll &cb’té._

(C) Haeid 2iua ydaue

@) qduas ydae

At what stage does abstract thinking begi‘n to develop ?

(A) Concrete operational

(B) Formal operational

(C) Pre-operational

(D)' Sensori-motor

suL doisy wyd Qe Rsid wzsud an 8 7
@) 3d Bucns |

@) dvARs Bucis

©) wdBuicis

@) SEed W eA—wIRs nglle

Training in which of the following areas is most likely to result in the greatest

transfer ?

(A) Memorization . (B) Perception /
(C) Habit formation | | (D) Generalizations |

DAl sl Aol ey weiad: el am Asradi wRYA @ ?
(A) W | (B) ucugllsm |

(©) i usd? - D) A5l
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31.

32.

Which of these statements about suicide is not true ?
(A) Suicide is now the second leading cause of death for 15 to 24 year olds

(B) Many suicides go unreported

(C) College students and non-college individuals of the same age range commit

suicide at equal rates

(D) More than 10 per cent of those who attempt suicide succeed

el R P RQadill s R e el ?

@) &2 1w Al 3y il aurll Bl Yoy W2 Bitsl ol Yo siRel
g9 .
B) uell 2UHeUIAL Mddd 2uldl )

(C) ¥MIAL AUl 3Lc1°arru [Qenelil A AAHL L L ASHL BiHSUAL €

AL O
D) HAA 52 O Auiell 10 251 5dl AU Elsl VUHSAUL SUHL ASUL WA
€9 .

The adjusted person differs from the maladjusted person principally from the

- standpoint of :

(A) The consciousness of his motives
(B) The effectiveness of his responses in satisfying his needs

(C). The degree of integration of his motives with the welfare of the social

. order

(D) The singleness of purpose in the attainment of his goals ;

sled Ald >ugslad Aldd sl gw{c& £ gl%amvga[l %l ué o 7

(A) Wlclisll A28 RS- uourdL

@) Wil o34l Ardivari Wit u[aztmvﬂ VYSRGSl
©) WHPss aarairll Ra WA dididl RS YA e
D) Wldti Al wlaui Asalaa

Edu.—II 12




33.

34.

Communicating anger in a way that is constructive is best accomplished when
the individual expressing anger does so in what way .?

(A) a retaliatory fashion o

(B) by telling a friend about it

(C) as a spontaneous outburst

D thoughtfully to those involved in the anger-producing situation
gl s 53Ul Al 55 T AN Asd 52 dl Ry, e udlad
A J2AHs o ? -

@ eedl amarl

@) B a8 ad s30A

(C) @i, Gss3U

©) RuAs WRRARML Asmde dis e Raryds asd s
Research is necessary because :

(A) Tt resolves problems

(B) It helps earn a degree

(C) It helps getting a job -

(D) It helps learning about research methods

dglad %33 B SIRA- 5 —

A) A AR G3d ad 8.

@) A uedl ANduMl Hee3u WA B,

(O s3] Aol Hee3w A B,
- (D) Ao uglvll QA llval e Hee3y 4y 1)
35. :

Research is conducted to :

(A) collect new facts

(B) create new knowledge

(C) interpret existing information
D) All of the above

Aollert AW HER wd € 7

A) dl eflsdl Sl s

(B) <dl it AF s

©) Guees, MRl wedue s
(D) GUil “ai
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36.

37.

38.

—

~ Scientific knowledge can only be corroborated but it is not verifiable. So says

Karl Popper because :

(Ay Theories of science are conjectures

(B) Empirical evidence is insufﬁqient to h_élp in this regard

(C) Progress of science is through a process of refutaﬁions

@) All of these statements are correct -

sid Wil 58 © 3 daulAs sl vt YR 53 asid, wa an asiil asig
Al w we ?

(@) Rl Rgidl vesml 8
(B) il ouolddl AGMAlAd YlUBil Yl 8

(©) [Raitrdl woula viseidl uBu gl wu 8
D) GU-L oal Qarl wal 8

There will be no signiﬁcént difference between measures of achievement of
high and low creative studg/x;ts. This is a hypothesis written in the form of :
(A) Directional (B) Interrogative

(C) Null : T(D)‘ Theoretical

"Gy A [P, sl [@Qenela-)l Rl aaist a2l weds dsiad -

AR Sl L Geseurtl s AUl @vuddl § 7

a) lewyus (B) usud

© 4t @) Aalis

Stratified random ‘sampling :

(A) uses existing physical conditions in order to form groups

(B) takes random samples from each sub-group

(C) is less efficient than simple random sampling

(D) needs more subjects than simbple random sampling

g ugA9 Ay—wRiedll

A) el L W2 =R wvladl «ilfas u[iﬁat[az»uru @uqm 53 9.
B) £35 Nergunidl 4gx9 Ayl 4 9.

(C) WL ug%9 -yl wiedll sdi 2hedl slan 9.

(D) AL ugA9 yril wRiedll sl aa wetidl #3Rud qrd 8,

Edu.—II o 14
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39.

40.

41.

" The selection of appropriate comparison grdups is crucial in ex post factd research

because : .
(A) The groups must be equal in all respects except the independent variable
(B) The groups must be about the same with respect to the dependent variable

(C) Otherwise the groups would not be comparable.

(D) If the groups are incorrectly chosen, rival hypotheses may be more
plausible ’

5120 garilcs Aalasul Yoy, g,arucﬂs ogeli{l wieoll AU B, s1RQ 3~
(A) Wdo ad R sudl ol susdinl ol WL elal °&ES=A

(B) uxdot aadl ouetddi gl @oledl AL glal AN,
(0 ¥ ol deruad L o,

@) A ol wid A wdie A, dl wrudl Beseurtivl asid qwo{l 6.
Which design has the weakest internal validity ?

(A) One-group post,-test‘ only (B) One-group pretest-post-test

(C) A-B-A-B single-subject design (D) Time-series design

DAl 56 Al 2iaRs aadar Al awd <ol & 7

(A) A5 %A WA Gu sl ®) As % yd sud Guy sAé
(©) B—6l——6 su{lu Aoyl (D) A AR dqogl

The essential difference between the laboratory experiment and the field study
experiment lies in :

(A) The logic and purpose of research

(B) The manipulation of independent variables

(C) Testing hypothesis

(D) Randomization

WLLAOUAL MU gl &l ASARA WO vl d{rlcld -‘le é?l‘-l 7
A) dAWar-l df dal &g

(B) Wt Add [RUAR

(€©) Geseuritl asiugll

(D) dg4dls

Edu.—II .15 ' - P.T.O.



42.

43.

44.

Why intelligence tests are held in high regards by educational researcher
and school personnel ? '

(A) Standardised format
(B) Generalised »format
(C) Instructional efficiency

D) Success in predicting school achievement

dalds AMas dul why sfuail o &uéla»u& ETOR| Hé,cq"[l L MR
A & 7.

A) ¥+ @3l

B) Ar={lgd ¥3ul

© Aals sdanar '
@) WwaA Al uondl sauml usndl

‘Which of the following variables is experimentally most measurable ?

(A) Students’ ability

(B) Teaching methods

(C) Socio-economic level of community in which school is located
(D) Student age

QAL acdinidl sy w4 ug s wAilbis 21& nuﬂ Asly ag, & ?
@) Renel2-l Wl

B) el ugRal

(©) won ui »Adl & A A Ws ulls qR

@) [Reneldl au

What is the disadvantage of attitude scales ?

‘(A) Subjects’ responses may not reflect their true attitudes

(B) They require highly trained raters to ensure accurate scorlng

- (C) They usually have low construct validity

(D) They usually have low test-retest reliability

yeilaagr Huesi-ll Al wulel © 7

@) Renflpii-dl MRARL Qudl WAl Helaasl < suld.

B) dsuSudsl suist W2 6 diei wial suisasalzi-Al 932 ud 8
© A=t A Al wes vaEdd Al s 9.

(M) At WA Al sl — Yot sl @Qsaqu-ludl Al lu 8.
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Instruction (Q. No. 45 to 50) , ,
Read the passage given below and answer the qﬁestions 45 to 50 that follow
based on your understanding of the passage : ‘

A good environmental education programme will take students into an.
environment when appropriate. School sites offer an easily accessible learning
environment where problems, projects and other activities can become real
and meaningful. V :

The local environmental education development programme should involve
a steering committee for school and community site development consisting
of citizens, administrators, teachers and students and special consultants or
advisors. This committee would oversee the development of sites for educational
use, envu'onmental improvements such as landscaping and beautlﬁcatlon and
community use such as natural outdoor recreational areas for citizens and
visitors. Student involvement should be stressed in the development of these
sites as in the selection of other sites in the community which may be used
as examples of environmental management practices.

Tyant (. . ¥y ol wo)

L3 20l dlevis aizll A A oEis Rl axl Wiy 2R d-dl A
2L UrLsHils ¥U ol WO L Gl 2wl ¢
yulazel Reedl AL sidsy sl doy iy clll lﬁa&ﬁw& uq{qwm as
oy . wourl oWV YA iEUn, wulalel \Lg WS 6. c?-ll AHRAIAL,
WFsA oA wed UG ARARS A velyel o 8.
vafazel R Rsid s sdsd W s Raus aﬁ[& Sidl AS.
. AR v sl won 24 Al ol Qs s etg A, Aul
AR A, adlazsdlxll, Riesl, Renellall 20 RRud AelsstL el A5
2L AR AalRis Guailor 32 pouviil sl 2uIv s3. ooy afin gedl
Rl dat yrer eeudla diazedl @ﬁuzgu 2, A s as. adl,
1L AR RUFLS WL GUHIRL R YR gy aiidl A5 S22l AelAMl AR 51
el Hellstdloil W2 1ol 3ol Wglas RrcuRiql Rsre s30 a3, 2udl outi-y
Rsiiml da e Al ol gomii-l wicoui [Renelii euolletl gidl
ASA 3 ¥ Ul uqtqmvu daudn-l uaRiini @atezgu dvfl% wusi 4
ASIA.
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45.

46.

47.

Environmental ‘education is important, because—

(A) Children demand -~ (B) Parents demand
(C) Society dexﬁands . D) It is good for all
vulaze Raw wsad 8, sra 3 - -
A) sunsl adl widt 2 9. - (B) adlall A wia 53 B,
(©) e Al vidL s B, @) A Al 12 Wy 9,

Environmental education should be given to students, when :

(A) they are adults

" (B) -they ask for it

(C) newspapers carry advertisements

| D) it is approvpriate

yafazel RAg sasid i vud RASA, a1l
(&) Avll Yo o,

B) Axll a-dl woawll s2.

(©) adHit Wl Meudl 2ud.

(D) A YU $iu,

Environmental education should be offered at schools, because here :
(A) it could be taken up‘ as a problem |
(B)- it ma{y be made part of a project »

(C) it could become a regular activity of school
(D) all the above three are possible

vulazel REs woudi siug AdH, siee 3wl
@) A A5 wwa aWd eim adl s,

(B) Al diFserll As euol otrudl Asid.

© A woudl Rafd ugf ol o3,

(D) G+l 28 usd 9.
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48. The first step in Environmental Education is to make :

(A) a steering committee (B) a citizens’ committee
(C) both (D) neither

wylqa e nas Al auv{l AU U & ?
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49. Environmental Education through a committee can be best used :
(A) for landscaping community sites
(B) for beautification of the sites
(C) for developing the sites as natural outdoor recreation areas
D) for all the three
ARR gt yulara Qe ddlad Guaian we w2 as us 7
@A) 2uFs wuerell vl gedl gl s-iaal
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50. Environmental Education is not possible withoﬁt“ involving students,
because : |
(A) they are a party of this exercise
(B) they know how to develop certain sites

(C) it is necessary for showcase purpose

D) all this is part of environmental management practices
Rensflolin wda sul 4o wulae e asy «dl, s@ 3
@) dnil 1 ugRdl As va B
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